
ROOF RACK

Innovation at heart.

PLATAFORM #6

103271



ROOF RACK

1LH

1RH

3

4

5

6

10

7LH

7RH

TMX RR 102992 BOLT KIT

Item Nº Part

Description Qty

16 M6 Alen Bolt 87

26 M6  Washer 87

17 M6 x 16 Countersunk 28

18

M6 Nylook Flange nut

115



X 20
16

17

18

X 20

X 40ROOF RACK

X 10
16

18

X 10

17

17

17

17

1717

1717

1717

18

18

18

18

18

16

16

16

16

16

16

16

16

16

16

X 2
16

17

18

X 4

X 6

16

16

16

16

16

18

18

18

18

18

16

16

17

17

17
17

18

18

18

26

X 2

26

X 20

26

X 10

26

26

26

26

26

26

26

26

26

26 26

26

26

26

26

26



ROOF RACK

X 4
16

17

18

X 4

X 8

18

18

18

18

18

17

17

17

17

16

16

26

X 4

X 5

X 45
16

18

X 45

26

X 45

16

16

16

16

16

16

16

16

16

26

26

26

26

26

26

26

26

26

18

18

18

18

18

18

18

18

18

26

26



COMBAT LED BAR 32"

SLIM LED BAR 10"

SET SPOT LED 2 + 2

TMX RR 013

TMX RR 014

OPTIONALS FITMENT INSTRUCTIONS



SET TMX RR 103637 BOLT KIT

Item Nº Part

Description Qty

16
M6-100 x 16 Alen Bolt

4

19
M4 x 8 Allen Cap 4

18
M6-100 Flange nylock nut

4

26
M6 Washer

4

27
M4 Spring Lock Washer

4

TMX RR 103637
2

ROOF RACK

19

19

27

27

16

16

26

26

18

18

TMX RR 103637

HD POD Bracket Set
103647



Contact Us:

ROOF RACK


	103271 Page 1
	Planos y vistas
	Modelo


	103271 Page 2
	Planos y vistas
	Modelo


	103271 Page 3
	Planos y vistas
	Modelo


	103271 Page 4
	Planos y vistas
	Modelo


	103648
	103647
	Planos y vistas
	Modelo


	103271 Page 5
	Planos y vistas
	Modelo



